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= a A a & da =
1.2 W1 30 317 AN IUIN 1. How many seconds are there in 2 minutes and 30 seconds?

9
2. Nﬁﬂm@ﬂjﬂﬁlﬂTﬂULWW‘J},i 2. What is the product of the following multiplication?
33x2x14 33x2x14
A Y & o < Ay v o A < Y
3. peuwa Iduran i Suusamuana ld 1324 wa Suhaeunu1d 3. In an orchard, 1324 pears were collected on the first day,
748 WA i]\?ﬂ'l'jﬁ]’uu‘iﬂl,fd]“l_lﬁWélléjiﬂﬂﬂ’jT?uﬁﬁﬂ\‘IﬁNa and 748 pears were collected on the second day. How many

more pears were collected on the first day than on the second

day?

A o Y A 4
4, mﬂgﬂﬂﬂ”l‘l/iuﬂ{l‘l/i 9 % ADYAFUINAWUIINNAY 4. From the given figure, point G is the center of the circle.

J. ] 4

2911 INAN I TFUEUAUINA191IT . How long, in cm, is the diameter of the circle?

10 @, /—-10em--. 2\
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5. ﬁs’i@]’lﬂﬁﬁﬂﬁ]uwﬁ\iﬂjaqﬂﬁﬁuiuﬁ@uﬁﬁq inﬂ‘]Jﬁﬁuﬁ 5. The following is part of a calendar of a month. From this
ﬂqwqjqi'quﬁ’ﬁuam@qﬁ’ﬂﬂqﬁﬁﬁ]uﬁjqﬁ’ua’uﬁmqu calendar, find the date of the Thursday of the third week.
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6. (HoVHATHAZIANYDINMIMTa 11T 291 wasmnumi'ls 6. When calculating the quotient and the remainder
of the following division, what is the quotient?
46)957
46)957

~ ~ A o 9 1 o 3 A . .

7. mﬂgﬂﬁmaﬂwﬂmuﬂiﬁ INNATINYDY A AU U 1 UNBIA 7. From the given quadrilateral, find the sum of A and B

(in degrees).

Y

Y v
8. SuvsHun Ui WIuae 1 Hdeday azliday 0 anuana) 8. When writing the following word-form number in

o g v P . number form, how many Os are there all together?
goenuudaa U uaosrlua gLl

Two thousand eight trillion twenty billion two thousand eight

9. %’@Glﬂ@ie"lﬂfz’!ﬂm?q 9. Which of the following is true?
2 5 2 5
@g>g ®0.5>0.7 ®E>g ®0.5>0.7
1 1 1.1
® 5<4.7 @5 >, ®5<47 @5 >y
4 _
® 15=02 ® 19 = 02

{ { o 9 '
10. 1n3Uanumagy nua NiuAlR 191 NVIAVIYY DA 10. From the given triangle ABC, find the measure of angle ABC

!fﬂ uﬁ'mm in degrees.

) ' Y
Taetiou lunuaussas lai
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' 2 ' , o Tei . . . .
. gﬂﬁmmﬁﬂu AU Lﬂugﬂmumﬁﬂuwﬁﬁmﬁﬁﬁm A% LA NA Triangle ABC is an isosceles triangle that has sides AB
"o and AC equal in length.
Y1rAUNINU
' ; o Triangle DEF is an equilateral triangle.
= 3 = Y ]
« 3ilenumasy wan Wuglammasuaim

v , , o The sum of the lengths of all three sides of isosceles
o 9 = Y o
* was:mmmfn’mqmmmmmgﬂﬁmmaauwmﬁn nun triangle ABC is equal to the sum of the lengths of all

14 '
IANUNETINANNEINIE AU aurAsuA Y 399

three sides of equilateral triangle DEF.

%Qﬁqu]@ghu VA fnflﬁ' w9y, Find the length of side BC in cm.
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12. Create the largest number by using digit cards, 0 to 9,
once for each card, and letting 5 be the digit in
the hundred millions’ place and 1 be the digit in
the ten thousands’ place. What is the digit in
the hundred millions’ place of the number that is 1000 times

greater than such number created?

13. Find the sum of three numbers in the same line given that
the sums of three numbers in any vertical/horizontal lines
have to be made equal by placing the following numbers,
once for each number, in the blank spaces.

3, 9, 13,

15, 17)

5 7

11

14. A two-digit number is constructed using 2 of the 3 cards,

‘ ‘ E, and the number in the remaining card

is used as a divisor. What is the largest remainder

of this division?

15. Stars (¥ ) are added based on the relation shown in

the following figure.

First
placement *

Second
placement

* % *

Third
placement

* % %k ok k ok

Fourth
placement

1 0. 0 0 0 006006 6 6 ¢

% % %k %k sk ok ok ok ok vk ke ok ok ok ok ok ok ok ok
* %

Fifth
placement

Find the number of stars in the eighth placement.

16. From the triangles on the graph paper below, what is

the sum of the numbers written on all of the isosceles triangles?

h
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17. All of the following scales are in balance position while

A, B, C, and D have different weights. The ascending order
of these four weights is 15 g, 35 g, 50 g, and 70 g.
Find the weight of B in g.

B C, 35¢g B, 35¢g A, C A D, 35¢g

;A_l

18. There are 50 marbles, and three people are taking

them as per the following conversation.

1
ShaeRee : I will take 3 of all marbles.
YoYong : I will take as many marbles as ShaeRee takes.

1
SheYoon : I will take 2 of the remaining marbles after

ShaeRee and YoYong take their shares.

How many marbles will be left after these three people take

their shares?

19. Cut a piece of bamboo, which was 50 cm long, into

two pieces and placed them together for comparison.
If one piece of bamboo is longer than the other by 8 cm,

find the length of the longer piece in cm.

20. Divide a square with a side length of 72 cm into 12 rectangles

of the same size, as follows.

72cm

i

;

What is the perimeter, in cm, of one such rectangle?

21. A car is traveling with a speed of 21 meters per second.

If the car is traveling at the same speed, how many kilometers

will the car travel in 2 hours and 30 minutes?

22. If a three-digit number A7B is divided by 4, the quotient is

B1A4 and the remainder is 0. Using the three-digit number

A7B and the quotient B14, find the result of (47B — B1A4).
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XY =(n X W)+ (n=4)

gNAIDENG 1Y 24 3% 5= (24 x 5)+ (24 +4) = 120+ 6 = 126
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23. From the given mathematical statement, how many

three-digit numbers can be filled in |:| ?

999 - 123>[ ]+333

24. The following shows the construction of bigger and bigger
equilateral triangles based on a certain relation using small

equilateral triangles, each of which contains 3 stars.

*

* *
X X
* *\ . /*
* * > x\/* *
x X X/ \ ¥
* ANyA Ay Ay A
* * * *\/* * LR AVARAVA RS
First Second Third Fourth

construction construction construction construction

In which construction (nm-order) does the triangle have

the total of 192 stars?

25. To arrange matches in the same way as shown below,
the first arrangement needs 4 matches and
the second arrangement needs 10 matches. If the arrangement
continues in this manner, how many matches will be there

in the eighth arrangement?

First Second

arrangement arrangement arrangement

arrangement

26. The following shows the division of a 180° angle into
8 equal angles. If the totals of 4 acute angles and B obtuse

angles can be found from the figure, find the value of 4 — B.

27. Let X represent the following calculation.

A¥%B =(AXB)+(A=4)

For example, 243%5=(24 x5)+ (24 +4)=120+ 6 =126
By the same calculation as above, what is the number in I:' ?

52| |=481
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28. Nine dots are placed with the same distance apart as shown.

L] - -
- . L]
L - -

Using these dots as vertices, 4 different sizes of squares and
B different sizes of isosceles triangles can be constructed.

Find the value of 4 + B.

29. The following example shows the connection of 2 squares

and one equilateral triangle with the side length of 2 cm.

—J‘ EXAMPLE +—

From the example, if two equilateral triangles are added
by placing side on top of another, different figures can be

constructed such as Figures A, B, and C.

A B C
If counting only the figures in which every triangle has a side
coinciding with a side of a square in the same way as shown
in Figure A and excluding figures similar to those shown in
Figures B or C, how many figures (different from the one
shown in Figure A) can be obtained?
(Figures that can be rotated or flipped to match each other are

considered as the same figure)

30. To make a four-digit number, 4 cards are selected from
digit cards that are numbered from O to 9, one card for
each digit. When rearranging all digits in each place value
in backward order, another four-digit number is obtained,
and the difference between the two numbers is calculated.
For example, if the number from the initial construction
is 7253, the number obtained by rearranging each digit in
the backward order is 3527. Hence, the difference between
the two numbers is 7253 — 3527 = 3726. If the difference
between the two numbers is calculated using the above

method, what is the smallest difference?
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